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IBPS Target Batch Schedule 

Monday- Basic topic ( 10min Quiz )

 Tuesday- Basic topic ( 10min Quiz )

Wednesday- Basic topic ( 10min Quiz )

 Thursday- DI special ( Prelims Level )

 Friday- Top Trending Questions ( Word 

Problems) - Same or Miscellaneous

 Saturday- Mains Magic ( Mains level) 



Two cities X and Y are 700km apart. X to Y is a downstream journey on a stream 

which flows at the speed of 5km/h. Two boats A and B run to and fro between these 

two cities. Speed of boat A, which starts from city X is 45km/h while speed of boat B 

which starts from city Y at the same time is 25km/h. After how much time two boats 

meets for second time?

A. 14h

B. 28h

C. 20h

D. 12h

E. NOT

दो शहर X और Y 700 किमी दरू हैं। X से Y एि धारा पर एि अनुप्रवाह यात्रा है जो 5km/h िी गति से 
बहिी है। दो नावें A और B इन दोनों शहरों िे बीच चलिी हैं। नाव A िी गति, जो शहर X से शुरू होिी है, 
45 किमी/घंटा है जबकि नाव B िी गति, जो उसी समय शहर Y से शुरू होिी है, 25 किमी/घंटा है। दो 
नावें कििने समय बाद दसूरी बार तमलिी हैं?



Nibha invested P rs at 50% per annum simple interest in X bank. At the end of one year, 

she withdrew all amount from the X bank and invested in Y bank at the rate of R% per 

annum at compound interest for two years and received 14400rs as total interest from the 

Y bank. The first year’s interest from Y bank was 6000rs. Then find sum of interest of both 

bank ?

A. 19400

B. 20100

C. 18600

D. 21200

E. 17900

तनभा ने X बैंि में 50% प्रति वर्ष साधारण ब्याज पर P रुपये िा तनवेश किया। एि वर्ष िे अंि में, उसने 
X बैंि से सभी रातश तनिाल ली और दो वर्ों िे तलए चक्रवदृ्धि ब्याज पर R% प्रति वर्ष िी दर से Y बैंि में 
तनवेश किया और Y बैंि से िुल ब्याज िे रूप में 14400 रुपये प्राप्त किए। वाई बैंि से पहले वर्ष िा 
ब्याज 6000 रुपये था। िो दोनों बैंिों िे ब्याज िा योग ज्ञाि िीजजये?



There are two bottles P and Q filled with oil of different prices and the volumes of bottles is 

160 and 40 liters respectively. Equal quantities are drawn from both P and Q in such a 

manner that the oil drawn from both P and Q in such a manner that the oil drawn from 

bottle Q is poured into bottle P. If the price per liter becomes equal in both bottles. What is 

the equal quantity that was drawn from both P and Q ?

A. 28

B. 32

C. 34

D. 36

E. NOT

दो बोिलें P और Q अलग-अलग िीमिों िे िेल से भरी हुई हैं और बोिलों िी मात्रा क्रमशः 160 और 40 
लीटर है। P और Q दोनों से समान मात्रा इस प्रिार ली जािी है कि P और Q दोनों से तनिाला गया िेल 
इस प्रिार से तनिाला जािा है कि बोिल Q से तनिाला गया िेल बोिल P में डाला जािा है। यकद दोनों 
बोिलों में प्रति लीटर िीमि बराबर हो जािी है। P और Q दोनों से ली गई समान मात्रा ा या है?



A woman ordered 8 pair of diamond earrings and some pair of gold earrings. The price of 

diamond pair is double that of gold one. While preparing the bill the jeweler interchanged 

the count of gold and diamond pair. It decreases the bill by price of 3 pairs of gold 

earrings. Then find the ratio of diamond and gold pair of earrings in the original order ?

A. 5:8

B. 7:2

C. 8:5

D. 8:3

E. NOT

एि मकहला ने 8 जोडी हीरे िी बातलयां और िुछ जोडी सोने िी बातलयां ऑडषर िीं। हीरे िी जोडी िी 
िीमि सोने िी िुलना में दोगुनी है। द्धबल िैयार िरिे समय जौहरी ने सोने और हीरे िी जोडी िी 
तगनिी िो आपस में बदल कदया। यह सोने िी बातलयों िे 3 जोडे िी िीमि से द्धबल िो िम िरिा है। 
िो मूल क्रम में हीरे और सोने िी बातलयों िी जोडी िा अनुपाि ज्ञाि िीजजये?



The sum of allowances received by R and S together was 3800rs. R and S both paid 1/4th of 

their respective allowances as their tuition fees. If the tuition fees paid by S was more than 

that paid by R by 80rs. How much was R’s allowances ?

A. 1800

B. 1740

C. 1640

D. 1840

E. NOT

R और S िो तमलािर प्राप्त भत्तों िी रातश 3800 रुपये थी। R और S दोनों ने अपने संबंतधि भत्तों िा 1/4 
भाग अपनी ट्यूशन फीस िे रूप में भुगिान किया। यकद S द्वारा भुगिान िी गई ट्यूशन फीस R द्वारा 80 
रुपये द्वारा भुगिान िी गई फीस से अतधि थी। R िा भत्ता कििना था?



Vessels A and B contains mixture of copper and zinc. Copper content is 80% and 62.5% in 

vessel A and B respectively. 25kg of mixture is taken out from vessel A and poured into 

vessel B so that copper content becomes 100% more than that of zinc in vessel B. If new 

quantity of mixture in vessel B is 16% less than initial quantity of mixture in vessel A. Find 

initial quantity of copper in vessel A ?

A. 80

B. 160

C. 120

D. 140

E. 100

वेसल्स A और B में िांबा और जस्िा िा तमश्रण होिा है। पोि ए और बी में िॉपर िी मात्रा क्रमशः 
80% और 62.5% है। बिषन A से 25 किलो तमश्रण तनिाला जािा है और बिषन B में डाला जािा है िाकि 
बिषन B में जस्िा िी िुलना में िांबे िी मात्रा 100% अतधि हो जाए। यकद बिषन B में तमश्रण िी नई 
मात्रा बिषन A में तमश्रण िी प्रारंतभि मात्रा से 16% िम है, िो बिषन A में िांबे िी प्रारंतभि मात्रा ज्ञाि 
िीजजये?



Boats A and B go 240 km downstream and come back to the starting point in 16 hours and 

9 hours respectively. If the ratio of the still water speed of Boat A of Boat B is 2:3 then 

what is the speed of the stream ?

A. 10

B. 20

C. 35

D. 40

E. NOT

नाव A और B धारा िे अनुिूल 240 किमी िी दरूी िय िरिी हैं और क्रमशः 16 घंटे और 9 घंटे में 
प्रारंतभि द्धबंद ुपर वापस आिी हैं। यकद नाव B िी नाव A िी जस्थर जल गति िा अनुपाि 2:3 है, िो धारा 
िी गति ा या है?



A pilot flies an aircraft at a certain speed for a distance of 800km. He could have saved 40 

minute by increasing the average speed of the plane by 40km/h. Find the average speed of 

aircraft ?

A. 200

B. 300

C. 240

D. 160

E. NOT

एि पायलट एि द्धवमान िो 800 किमी िी दरूी िे तलए एि तनजिि गति से उडािा है। वह द्धवमान िी औसि गति 
िो 40 किमी /घंटा बढािर 40 तमनट बचा सििा था। द्धवमान िी औसि गति ज्ञाि िीजजए?


